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Who among the following compares
the organisations of civil society to a
‘Powerful system of fortresses and earth
works’ standing behind the state ?

(A) Karl Marx (B) Lenin

(C) Mao (D) Gramsci

Which of the following statement was

not advocated by Lenin ?

(A) Contradiction between labour and
capital

(B) Contradictions between imperialists
competing for world markets and raw
materials

(C) Contradictions between colonial
peoples and imperialists

(D) Reconciliable hostilities between
capitalists and proletariat

. In which year did Mao introduce

‘Commune System’ in China ?
(A) 1958 (B) 1959
(C) 1960 (D) 1961

Neo-Liberal theory of democracy is a

(A) Rejection of classical theory of
democracy

(B) Modification of classical theory of
democracy

(C) Mutilation of classical theory of
democracy

(D) None of the above

. Which of the following book was authored

by Plato ?
(A) Politics (B) The Laws
(C) Political Economy (D) Polity
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10.

e

Which of the following statements is true

with regard to behaviouralism ?

(A) It is based on stimulus-response
paradigm

(B) It attempts to convert political science
to a natural science

(C) ltreplaces the concept of power with
the concept of legitimacy

(D) It replaces explanation with norms

According to Aristotle the end of state is
(A) Logical (B) Legal
(C) Ethical (D) Political

The concept of legal sovereignty was for
the first time given by
(A) Hobbes

(C) Rousseau

(B) Locke
(D) Bentham

Assertion (A) : According to Locke, the
functions of government as well as its
powers are limited.

Reason (R) : Government exists, he says,

to protect life, liberty and property.

(A) (A)and (R) are true, (R) is the correct
explanation of (A)

(B) (A) and (R) are true, but (R) is not
the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Assertion (A) : Scientific socialism explains
history in terms of class struggle.

Reason (R) : Class struggle takes place

in the ‘Super structure’ first.

(A) (A)and (R) are true, (R) is the correct
explanation of (A)

(B) (A) and (R) are true, but (R) is not
the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true
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12.

13.

14.
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Assertion (A) : Hobbes was inclined

towards absolutism.

Reason (R) : Hobbes was an Englishman

who lived in the days of the civil war.

(A) (A)and (R) are true, (R) is the correct
explanation of (A)

(B) (A) and (R) are true, but (R) is not
the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Assertion (A) : The social contract theory

established a sovereign government.

Reason (R) : Citizens do have an

absolute obligation to obey all laws or

accept any form of government.

(A) (A)and (R) are true, (R) is the correct
explanation of (A)

(B) (A) and (R) are true, but (R) is not
the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Assertion (A) : Aristotle is justifiably

called the father of political science.

Reason (R) : Aristotle’s criticism of

Plato’s idealism justifies the claim.

(A) (A)and (R) are true, (R) is the correct
explanation of (A)

(B) (A) and (R) are true, but (R) is not
the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Assertion (A) : Marx was a revolutionary.

Reason (R) : Marx was not concerned

about the processes of history.

(A) (A)and (R) are true, (R) is the correct
explanation of (A)

(B) (A) and (R) are true, but (R) is not
the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true
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15.

16.

17.

e

Give the correct chronological sequence
of the following :

1. Swadeshi Movement.

2. Non-Cooperation Movement.

3. Quit India Movement.

4. Civil Disobedience Movement.

Codes :
(A) 1,2,3,4 (B) 2,
(C) 4,2,1,3 1
Which of the following statements are not
associated with the social contract theory
of Rousseau ?

1. Each of us put our person and also
our power in common under the
supreme direction of general will.

2. What man loses by social contract is
his natural liberty.

3. The first law of nature is that
everybody should aim at securing
peace.

4. State of nature is a state of peace,
goodwill, mutual assistance and
preservation.

Codes :
(A) 3and 4 (B) 1,2and 4
(C) 1and 2 (D) 1and 3

Consider the following statements and
choose the correct code.

1. Jeremy Bentham preserved the
individualist notion of moral
autonomy.

2. Jeremy Bentham supported the idea
that division of power secured and
protected Constitutional liberty.

Codes :

(A) 1 only

(B) 2 only

(C) Both1and 2
(D) Neither 1 nor 2
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18. Match the following :

19.

20.

e

List -1 List- I
(Concepts) (Thinkers)
a. General will . Machiavelli
b. Absolute . Locke
sovereignty
c. Limited . Hobbes
government
d. New politics . Rousseau
Codes :
a b cd
(A)2 3 4 1
B3 4 1 2
<4 3 2 1
D)1 4 3 2

Consider the following statements and
choose the correct answer code.
1. Political power is the organised power
of one class for oppressing another.
2. The existence of the state is bound
up with class conflict in society.
3. The state does not use a power
imposed on society from without, it
is actually a product of society at a
particular stage of its development.

4. The state is independent of civil

society.
Codes :
(A) 1and 2 (B) 1and 4
(C) 1,2and 3 (D) 2,3and 4

“Functionalism can indeed be interpreted
as a conscious alternative to Marxism”
who said this ?

(A) W. G. Runciman
(B) Robert K. Merton
(C) Oran Yang

(D) David Easton
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21.

22,

23.

24,

25.

26.

e

Which one of the following pairs is not
correctly matched ?

(A) Pareto : The concept of Residues
(B) Michels : The concept of Mass Mind
(C) Mills : The concept of Political Formula
(D) Gasset : The theory of Masses

Which one of the following is not correctly
matched ?

(A) Lucian Pye : Modernisation Theory
(B) Wallerstein : World System Theory
(C) Theda Skocpol : New Institutionalism
(D) Karl Deutsch : Communications Theory

The President under the Presidential
system is the head of the

(A) State

(B) Government

(C) State as well as Government
(D) None of the above

Pressure groups differ from political
parties in so far as

(A) They contest elections

(B) They have large membership

(C) They pursue broader objectives
(D) Their field of operation is very limited

Which one of the following is not one of
the indicators of political development ?

(A) Capacity

(B) Equality

(C) Fraternity
(D) Differentiation

Who expressed the view that the British
Constitution does not exist ?

(A) De Tocqueville (B) Hamilton
(C) Herman Finer (D) C. F. Strong
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27.

28.

29.

30.

31.

32.

e

To which form of government is the
principle of ‘Separation of Powers’
applicable ?
(A) Parliamentary
(C) Unitary

(B) Presidential
(D) Federal

The first country to adopt federal system
was

(A) Australia (B) Canada

(C) US.A. (D) U.S.S.R.

The term federation is drawn from the
term ‘foedus’ taken from

(A) Latin (B) English
(C) French (D) Spanish

Political parties are generally formed on
the basis of

(A) Religious principles

(B) Common interests

(C) Economic and Political principles
(D) Caste

Who said, “the political elite comprises
the power holders of a body politic” ?

(A) Harold D. Lasswell
(B) Max Weber

(C) Wilfredo Pareto
(D) Gaetano Mosca

Assertion (A) : Interest groups can bring
pressure to bear in a number of ways.

Reason (R) : From a pluralistic

perspective, political parties and interest

groups are cornerstones of democracy.

(A) (A)and (R) are true, (R) is the correct
explanation of (A)

(B) (A) and (R) are true, but (R) is not
the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true
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33.

34.

35.

36.

e

Arrange these books in order of their
appearance.

1. Dynamics of modernization.

2. The passing of traditional societies :
Modernizing the middle east.

3. The politics of developing areas.
4. Political system : an enquiry into the
state of political science.
Codes :
(A) 1,2,3and 4
(C) 4,2,3and 1

(B) 1,3,2and 4
(D) 3,2,4and 1

Arrange the following books in order they
were published.

1. The ruling class.
Gold coast in transition.
The power elite.

Political culture and political
development.

2.
3.
4.
Codes :

(A) 1,3,2and 4
(C) 4,3,1and 2

(B) 1,2,4and 3
(D) 3,2,4and 1

Arrange the following in order of their
occurrence.

1. American War of Independence.
2. October Revolution of Russia.
3. Glorious Revolution of England.
4. French Revolution.

Codes :
(A) 1,2,4and 3
(C) 2,3,1and 4

(B) 3,1,4and 2
(D) 4,1,2and 3

Which pair is not correctly matched ?
(A) India : Multi-party System
(B) U.K.: Constitutional Monarchy

(C) U.S.A.: Collective Responsibility of
Cabinet

(D) Switzerland : Referendum
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37.

38.

39.

40.

e

Match the following :
List -1 List =1l
(Authors) (Books)
a. C. E. Black i. Political Parties
b. Gaetano Mosca ii. The Dynamics of
Modernization
c. Lucian W. Pye iii. The Ruling Class
d. Robert Michels iv. Aspects of
Political

Development

Codes :

a b cd
(A) i i v
(B) iii i i v
(C) i v i i
(D) i i i v

The idea of the Constitution of India was
first of all given by

(A) Dr. B. R. Ambedkar

(B) Jawaharlal Nehru

(C) M. N. Roy

(D) Sardar Vallabhbhai Patel

In which Session did the Muslim League
gave a call for ‘divide and quit’ ?

(A) Lahore 1940

(B) Karachi 1933
C) Lucknow 1931
D) Karachi 1943

—_~

In India the institution of Ombudsman is
known as

(A) C.B.L

(B) Lokpal and Lokayukta

(C) Central Administrative Tribunal
(D) Consumer Courts
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41.

42,

43.

44.

45.

46.

e

The President of India is elected by

(A) Two Houses of Parliament

(B) Members of State Legislature

(C) Only by the Lok Sabha

(D) Elected members of both the Houses
of Parliament and State Legislative
Assembly

The Council of Ministers in India consists of
(A) Cabinet Ministers

(B) Ministers of State

(C) Deputy Ministers

(D) All the three above

Right to Freedom is covered under
Articles

(A) 14t0 18
(C) 23t0 24

(B) 19 to 22
(D) 25 to 32

Article 352 of the Indian Constitution
deals with

(A) National Emergency

(B) Financial Emergency

(C) State Emergency

(D) Local Emergency

Dinesh Goswami Committee

recommended

(A) The Constitution of state level
election commission

(B) Governmental funding of parliamentary
elections

(C) A ban on the candidature of
Independent candidates in the
parliamentary elections

(D) Banning of legislative councils

Which one of the following rights was
described by Dr. B. R. Ambedkar as ‘the
heart and soul of the Constitution’ ?

(A) Right to Equality

(B) Cultural and Educational Rights

(C) Right to Freedom of Religion

(D) Right to Constitutional Remedies
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47.

48.

49.

e

The Chief Justice of the High Court is
appointed by

(A) The Governor of the State

(B) The President of India

(C) The Chief Minister of the State

(D) The Chief Justice of India

Assertion (A) : There are three lists
dividing the powers between the Union
and the states in India.

Reason (R) : India has a federal system

of government.

(A) (A)and (R) are true, (R) is the correct
explanation of (A)

(B) (A) and (R) are true, but (R) is not
the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Assertion (A) : In India the political
parties which formed the governments
represented the majority of seats secured
in the elections to the House of the
people at the centre and the Legislative
Assemblies in the states but not the
majority of votes.

Reason (R) : The elections based on the
majority vote system decide the result
on the basis of relative majority of votes
secured.

In the context of the above two statements

which one of the following is correct ?

(A) (A)and (R) are true, (R) is the correct
explanation of (A)

(B) (A) and (R) are true, but (R) is not
the correct explanation of (A)

C) (A) is true but (R) is false

(
(D) (A) is false but (R) is true
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50.

51.

52.

e

Assertion (A) : The President of India is
the Constitutional head of the state.

Reason (R) : All the powers are vested

in the Council of Ministers headed by the

Prime Minister.

(A) (A)and (R) are true, (R) is the correct
explanation of (A)

(B) (A) and (R) are true, but (R) is not
the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Assertion (A) : The Council of Ministers
in the Union of India is collectively
responsible to the Lok Sabha.

Reason (R) : The members of both

Lok Sabha and the Rajya Sabha are

eligible to be the Ministers of the Union

Government.

(A) (A)and (R) are true, (R) is the correct
explanation of (A)

(B) (A) and (R) are true, but (R) is not
the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Assertion (A) : In his discretionary power
Governor can reserve a bill for the assent
of President.

Reason (R) : The President of India can

return a bill passed by a State Legislature

for reconsideration.

(A) (A)and (R) are true, (R) is the correct
explanation of (A)

(B) (A) and (R) are true, but (R) is not
the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true
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53.

54.

55.

e

Arrange the following movements in
chronological order :

1. Quit India Movement.

2. Non-Co-operation Movement.
3. Civil-Disobedience Movement.
4. Home Rule Movement.

Codes :

(A) 1,2,3and 4
(B) 4,1,2and 3
(C) 4,2,3and 1
(D) 2,3,4and 1

Identify the chronological order of the
formation of the following regional
political parties.

i. Telugu Desam Party.
ii. Biju Janata Dal.

ii. D.M.K.

iv. Telangana Rashtra Samiti.
Codes :

(A) i, ii, iii, iv

(B) v, i, ii, iii

(C) iii, i, i, iv

(D) iii, i, ii, iv

Identify the correct chronological
sequence of the following :

i. 42 Amendment to the Constitution
of India.

ii. A.K. Gopalan Vs. State of Madras.
iii. Declaration of Internal Emergency.

iv. Keshavananda Bharti Vs. State of
Kerala.

Codes :

(A) i, iii, v, i
(B) i, ii, iii, iv
(C) i, iv, iii, i
(D) iii, iv, i, ii
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56.

57.

e

Identify the correct chronological order
in which the following are placed in the
Indian Constitution.

Use the codes given below.

i. Imposition of President’s rule in the
state.

ii. Freedom of conscience.

i. Parliament legislating on state
subject.

. Amendment to the Constitution.

Codes :

(A) v, iii, i, ii
(B) i, iii, i, iv
(C) iii, iv, ii, i
(D) iii, i, iv, ii

Arrange the political parties in India
chronologically as per the year of their
formation.

1. The Communist Party of India.
2. The Bharatiya Jan Sangh.
3. The Swatantra Party of India.

4. The Indian National Congress.

Codes :
(A) 1,2,4and 3
(B) 4,1,2and 3
(C) 2,3,1and 4
(D) 4,2,3and 1
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58.

59.

60.

61.

e

Match List — | with List — Il and select the
correct answer by using the codes given
below.

List - 1|
a. Article — 54

List-1I
1. Appointment of the
Prime Minister and
Council of Ministers
b. Article —75 2. Appointment of the
Governor of state

c. Article — 155 3. Appointment of the
Chief Minister and
Council of Ministers

d. Article — 164 4. Election of the
President

Codes :

a b cd

(A)4 1 2 3

B)1 3 4 2

<2 1 4 3

D)3 2 1 4

Who developed the concept of ‘Managerial
Grid’ ?

(A) Blake and White

(B) Blake and Mouton

(C) Blake and Schmindt

(D) Mouton and Shophan

Good governance and participating civil
society for development were stressed
in World Bank Report of

(A) 1992 (B) 1997

(C) 2000 (D) 2003

Which one of the following administrative
thinkers defined administration as ‘The
Organization and direction of human and
material resources to achieve desired
ends’ ?

(A) H. A. Simon
(C) J. M. Pfiffner

(B) J. A. Veig
(D) L. D. White
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62.

63.

64.

65.

66.

e

The word ‘POSD CORB’ was coined by
(A) Woodrow Wilson

(B) L. Gullick

(C) M. E. Dimmock

(D) O. Tead

The book ‘The Intellectual crisis in
American Public Administration’ deals
with

(A) Development Administration

(B) New Public Administration

(C) Public Choice Approach

(D) Ecological Approach

The scope and importance of public

administration does not include

(A) growing social complexity and
specialisation

(B) public administration overrides
private concerns

(C) egalitarianism

(D) any concern for individual’s material
and spiritual needs

The book ‘Economy and Society’ has
been authored by

(A) Robert Merton
(B) Ralph Hummal
(C) Max Weber

(D) Victor Thompson

Which of the following is not a feature of
Barnard’s theory of formal organisation ?

(A) General incentives

(B) Communication

(C) Common purpose

(D) Willingness to cooperate
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67.

68.

69.

e

Assertion (A) : Bureaucracy suffers
from procedural conformity, red tape
and rigidity in the application of rules and
procedures.

Reason (R) : There is often a debate

whether Civil Service should be politically

neutral or committed.

(A) (A)and (R) are true, (R) is the correct
explanation of (A)

(B) (A) and (R) are true, but (R) is not
the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Assertion (A) : Lack of promotion system
has a marked retroactive effect on all
process of personnel management.

Reason (R) : Promotion system is vital

for attracting and retaining talented

persons in public services.

(A) (A)and (R) are true, (R) is the correct
explanation of (A)

(B) (A) and (R) are true, but (R) is not
the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Assertion (A) : Coordination can be
achieved by establishing direct personal
contacts with the people concerned.

Reason (R) Inter personal

communication facilitates quick resolution

of differences.

(A) (A)and (R) are true, (R) is the correct
explanation of (A)

(B) (A) and (R) are true, but (R) is not
the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true
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70.

71.

72.

e

Assertion (A) : Span of control depends
on personal qualities and experience.

Reason (R) : Empirical studies have
found that the span of control will be
small if organizational units are located
at different places.

(A) (A)and (R) are true, (R) is the correct
explanation of (A)

(B) (A) and (R) are true, but (R) is not
the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Which of the following are responsible for
administrative change in present times ?

1. Incapacity of organisational societies
to cope with the social change.

Population explosion.
Technological change.
Cultural transformation.

2.
3.
4.

Codes :

(A) 1,2,3
B) 1,2,3,4
(©) 2, 3 4
(D) 2

The scope of public administration
includes which of the following ?

1. Administrative theory.

2. Application of administrative theory
in various fields.

Administrative organisation.

Ecology of administrative systems in
different countries.

Codes :
(A) 1,3,4
B) 1, 2 4

3.
4.

)
€ 2
(D) 1 2 3,4
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73.

74.

e

Which of the following statements
regarding the human factor in public
administration are true ?

1. ltis concerned about the betterment
of public servants.

2. It involves the relations between
administration and the employees.

3. It is concerned about law and
concentrates on the largely prescribed
structures and the organisation of
public authorities.

4. |t is concerned about administration
and the administered.

Codes :
(A) 1,2,3
B) 1,3,4
© 1,3
(D) 1,2,4

Match List — | with List — Il by choosing
the correct code :

List -1 List -1l
(Structure) (Theory/ Concept)
a. Flat hierarchy 1. Concept of
supportive
relationship
b. Linker-pin 2. Centralised
structure direction and
control
c. Job task 3. Self direction
hierarchy and self control
d. Project and 4. Decentralisation
matrix
Codes :
a b cd
A)1 3 2 4
B3 1 4 2
<4 1 2 3
Db)y1 2 4 3
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75.

76.

e

Match List — I with List — Il by choosing
the correct code :

List -1 List-1I
(Concept) (Thinker/Author)
a. Staff Agencies 1. Gullick
b. Supervision 2. Barnard
c. Authority 3. Mooney
d. Coordination 4. Millet
Codes :
a b cd
A4 3 1 2
B)3 4 2 1
)2 3 4 1
(D)3 1 4 2

The human factor in public administration
is exposed to the risk of being forgotten
or neglected, primarily due to the fact
that
1. Alarge organisation inevitably results
in depersonalisation
2. A large organization results in loss
of individuality for the member
3. A large organisation treats an
individual member as a mere cog in
the machine
4. There is a growing trend of insulating
work of management and supervision
from the operational levels

Codes :

(A) 1

(B) 1and 2

C) 1,2,4

(D) 1,2,3and 4
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77.

78.

79.

80.

e

Which one of the following is not correct

about Iraqui invasion on Kuwait in the

Post-cold War period ?

(A) lrag’s main objective of capturing
Kuwait was to grab for control of
Middle East oil

(B) The United states mobilised a
coalition of world’s major countries
to counter Iraq

(C) The U.S. led coalition applied
sanctions against Iraq

(D) The U.S.led coalition finally overthrew
the government of Iraq

‘The Bush Doctrine’ was propounded
by the President George W. Bush in the
wake of

(A) lrag-Kuwait war in 1990

(B) Bosnian crisis

(C) Russia’s annexation of Crimea
(D)

D) Terrorist attack on the United States
on 11 September 2001

Which is not true about ‘Warsaw Pact’ ?

(A) It was founded by the Soviet Union
in 1995

(B) It was aresponse to the formation of
NATO

(C) Russia has revived it in the wake of
recent middle east crisis

(D) It was disbanded in 1991

The International Atomic Energy Agency
(IAEA) is based at

(A) New York
(B) Geneva
(C) Vienna
(D) Paris
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81.

82.

83.

84.

e

Consider the following statements :

1. Liberal theories of International
Relations try to explain how peace
and co-operations are possible.

Immanuel Kant is generally regarded
as proponent of liberal theory of
international relations.

It holds that rules to facilitate and
co-operation is built by the states on
reciprocity principles.

. Trade does not promote peace rather
it leads to conflict.

Of these

(A) Only 4 is correct

(B) Only 1 and 4 are correct
(C) Only 1 is correct

(D) 1,2 and 3 are correct

Weapons of mass destruction comprise

(A) Only nuclear weapons

(B) Conventional military force

(C) Only biological weapons

(D) All nuclear, chemical and biological
weapons

How many votes are required from the
15 members of the Security Council to pass
a substantive Security Council resolution ?

(A) 11 (B) 09
(C) 10 (D) 07

Who coined the term ‘Summit Diplomacy’ ?
(A) Roosevelt

(B) Winston Churchill

(C) Truman

(D) Jimmy Carter
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85.

86.

87.

e

Assertion (A) : The present state is quite
incapable of controlling phenomena such
as global satellite sensing, global social
and ecological problems.

Reason (R) : Globalization and path
breaking technological revolutions have
changed global scenario.

(A) (A)and (R) are true, (R) is the correct
explanation of (A)

(B) (A) and (R) are true, but (R) is not
the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Assertion (A) : Indian foreign policy
is directed towards more and more
international engagements under
the leadership of the Prime Minister
Sri Narendra Modi.

Reason (R) : Non-alignment appears
to be irrelevant in the post-cold war
period.

(A) (A)and (R) are true, (R) is the correct
explanation of (A)

(B) (A) and (R) are true, but (R) is not
the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Arrange the following in a chronological
order :

1. Helsinki Conference

2. End of Cold war

3. Yalta Conference

4. Earth Summit

Codes :

(A) 1,2,3,4
(B) 2,3, 4,1
(C) 2,1,83,4
(D) 3,1,2,4
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88.

89.

90.

o1.

e

Arrange the following in a sequence ?
1. Indo-U.S. Nuclear deal
2. India-Bhutan Friendship Treaty

3. Indo-Soviet Treaty of Peace,
Friendship and Co-operation

4. Indus Water Treaty

Codes :
(A) 1,2,3,4 (B) 4,2,1,3
(C) 2,3,4,1 (D) 3,1,4,2

Arrange the following in chronological
order

1. Havana NAM Summit
2. Lusaka NAM Summit
3. Colombo NAM Summit
4. Algiers NAM Summit

Codes :
(A) 2,4, 3,1 B) 1,3,4,2
C) 1,2,3,4 (D) 4,3,2, 1

Arrange the following in a chronological
order

1. Collapse of the Soviet Union

2. Soviet Intervention in Afghanistan
3. Formation of BRICS

4. Korean Crisis

Codes :
(A) 4,2,1,3 (B) 2,3, 4,1
(C) 1,2,8,4 (D) 3,1,4,2

Arrange the following in chronological
order as they emerged.

1. NAM

2. WTO

3. New International Economic Order
4. SAPTA

Codes :
(A) 4,3,1,2 (B) 1,3,4,2
(C) 38,2,4,1 (D) 2,4, 3,1
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92.

93.

e

Match List — | with List — Il and select your
answer from the codes given below :

List -1 List -1l
(Treaties) (Signedin
the Year)

a. Conventional 1. 1987
Arms Cut Treaty

b. INF Treaty 2. 1993

c. START I 3. 2002

d. Treaty on Strategic 4. 1990
Offensive Reduction
(TSOR)

Codes :
a b cd

A4 1 2 3

B)y2 3 4 1

1 2 3 4

(D)3 1 2 4

Match List — | with List — Il and select your
answer from the codes given below :

List -1 List -1l
(Theory) (Propounders)
a. World System 1. Richard C.
Theory Snyder
b. Structural Theory 2. Mortan Kaplan

of Imperialism
International
System Theory

3. John Gattung

d. Decision Making 4. Immanuel
Theory Wallerstein

Codes :
a b cd

A3 4 1 2

B)y4 3 2 1

1 2 3 4

b)y2 1 4 3
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94. Match List— | with List— Il and select your
answer from the codes given below :

95.

e

List -1
(Books)
a. Diplomacy

b. India : Emerging
Power

c. Neo-colonialism :
The Last Stage of
Imperialism

d. Theory of
International
Politics

Codes :
a

A
vvve
N =2 W
wWw =N T
AN W =20
- W ~DND o

CICIC

List — I
(Authors)
1. Kwame
Nkrumah
. Kenneth
Waltz
3. Harold
Nicolson

N

4. Stephen
Cohen

Match List — | with List — Il and select your
answer from the codes given below :

List -1
(Theories)
a. Neo realism 1.

b. Institutionalism 2.

c. Feminism 3.
d. Post-modernism 4.
Codes :

a b cd
(A)1 4 8 2
B)1 2 8 4
3 1 4 2
D)2 3 4 1

List -1l
(Proponent)
Robert
Keohane
Richard Ashley
Kenneth Waltz
Cynthia Enloe
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Read the passage carefully and answer the
questions given below (choose the correct one).

Human beings are living in an uncertain and
disastrous situation today, where nuclear
weapons can completely destroy and eliminate
life on earth, several times over, if they are
used in war. Despite all efforts at disarmament
and non-proliferation nuclear weapons are still
stockpiled in large number in the U.S., Russia,
the U.K., France and China on the other hand
there is a proliferation of nuclear weapons
among new powers like Israel, South Africa,
India, Pakistan, Libya, North Korea, Iran and
so on. This has made the nuclear danger
ever more grave for the survival of the world,
if they are used in local wars. Such weapons
may even fall in the hands of terrorists and
subversive elements. There is also a great
danger to the survival of human beings and
other life on earth even without a nuclear war
as nuclear weapons can blast by accident and
negligent handling as well. Already there have
been several nuclear weapon accidents in the
past threatening the lives of people, Luckily
no major nuclear accident affecting total living
planet has taken so far.

96. What is the plight of human beings in the
era of nuclearisation ?

(A) Human beings are facing an uncertain
future in the era of nuclearisation

(B) There is no threat to human beings

(C) Total annihilation of humanity is not
possible even if there is nuclear
mishandling

(D) Nuclear weapons have been banned
by the U.N.

e
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97.

98.

99.

100.

e

Who are stockpiling nuclear weapons ?
(A) Disarmament has put a ban on
proliferation of nuclear weapons
(B) Nuclear weapons are stockpiled in
large number by all big five of the
security council

(C) India has signed the nuclear
non-proliferation treaty

(D) U.K. has never stockpiled nuclear
weapons

Which countries are new proliferators

after big five powers ?

(A) Proliferation of nuclear weapons is
confined to Russia and the U.S.A. only

(B) Proliferation of nuclear weapons has
never been done by France

(C) China has always been in favour
of using nuclear weapons as an
instrument of war

(D) Thereis reference to other states like
North Korea, Libya and Iran making
endeavour for nuclear proliferation

Which country developed nuclear power

with the help of Israel ?

(A) By 1994 the U.S.A. had stockpiled
7900 nuclear warheads

(B) South Africa undertook nuclear
programme with the assistance of
Israel

(C) New powers like Israel, Libya and
North Korea are new proliferators of
nuclear weapons

(D) Israel helped India in developing
nuclear weapons

Is there any possibility of nuclear accident ?

(A) There is no danger to the survival of
human beings in the era of
nuclearisation

(B) Possibility of nuclear accidents can
not be ruled out

(C) Nuclear dangeris not for seeninlocal
wars

(D) Hardly any case of nuclear accident
has been reported so far
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